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Pertes de charge linéiques TUBES PEX - Température d’eau = 50°C
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Deébit, I/h

Pertes de charge linéiques TUBES ACIER (en pouces) - Température d’eau = 50°C

1 2 3 4 5 6 7 8910 12 14 161820 30 40 50 60 70 8090700 200 300 400 500
500.000 500.000
\d i~
400.000 7 e > 7 . AN o 7 5 7 — Q21— 400000
> 2 % 2 > b N2 2 % 2 >
300.000 ¢ & & S [ ¢ ¢ g /// —— 300.000
> < // o3 A
L~
P _— 22
200.000 - o 200.000
/ L~
>< L
¥ //
O ></ 7 />< Y //
24 < L~ ~ > @/
100.000 2 S - —r 100.000
90.000 - e _ ’ 90.000
80.000 > - — 412 80.000
70.000 - ~ /},/ ),,,/ —— 4 £ 70.000
60.000 e S - = 60.000
50.000 — — - 50.000
A S\ —~ Phad
40.000 S T X = S . 40.000
@6 _—1 _~ B — 04
30,000 — — Bl 1 B _— 30.000
o //
0% — _ B - NN A2
20.000 - y 20.000
1 el
ok — - BN NeEl e
10.000 —|— ] L~ — ~ 10,000
P < —\ L
9.000 - <~ — 9.000
8.000 — e e — 8.000
7.000 ﬁ,,,/,,/‘ — —— o — N S i 7.000
6.000 2 — —— — Bs 0 6.000
T
5.000 —— ‘\I"”/'/ b ~= )(/ 5.000
4.000 0 2 — — 4.000
v~ = = B < .,m; ]
3.000 = g — — — 3.000
7
AT NS
o2 __— ] { <
2.000 B - = 2.000
— -1 p= =
] g N > ~ e
4 |‘2” L ] d | /// )
A \ T T <1
1.000 ) - _— 1,000
900 — s — < » 900
800 IRTENE > ] a8 800
700 o'\ — — — 700
600 ———— — —— - — 600
~ r < 1
500 — - ~ /, 500
400 ~ = 400
1 ~
300 ~ - — T 300
200 GI¥— o ol 200
/ P /// P ) <
L~ =N /’ 9 ¢ 2
// ‘3%/ " % 9’&— CP’/‘/
_— S // s ] ©
100 -~ -~ 100
1 2 3 4 5 6 7 8910 12 14 161820 30 40 50 60 70 8090100 200 300 400 500

Pertes de charge linéiques, mm C.E./m

10-4 @ CALEFH 10-4




Deébit, I/h

Pertes de charge linéiques TUBES CUIVRE - Température d’eau = 50°C
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